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TIME ALLOWED: 20 Minutes OBJECTIVE gﬁ U 220 = &h
MAXIMUM MARKS: 15 15= AF

e JF L ooty i Yol s U u:f‘;é’fé.)é.’.l/é:di/,q{,éiﬂ}u? -uf::’..f:.—.f.:,u D . CB-A .pgiﬁ’,.'fzgvﬁdf//g -
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Note: you have four choices for each objective type question as A, B, C and D. The choice _bjﬁfﬂz.—. il
which you think is correct, fill that bubble in front of that questicn number, on bubble sheet. Use marker or pen

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

2

1]

awarded in case BUBBLES are not filied. Do not solve questions on this sheet of OBJECTIVE PAPER. .

Q.No.1 A Ay

(1) Profitis eamed when: et ()
(A) SP=CP wsyjed = 4 fod (B)SP< CP  wesshed < 4iod
(C)SP>CP wiyjed > pind (D) None of these " uttes

(2) An instrument for payment order issued by -u;z‘fu m&@xl‘axyw!}de/-.{ﬁ,..@é,w;ﬁl{ AL @)

a bank on the request of its customer is called:

(A) Pay order J5/Te (B) Cheque <%  (C)Bank draft sk (D) Bill of exchange JKf{f

(3) The person or entity wﬁose insurance is being done is called the: -L,Q*Z;fr,i :n&(gég’)ﬁjfuiﬁ ;ﬁzgﬂ, (3)
(A) Insurer .37 (B) Drawer .3 (C) Lesse (7 (D) Insured 5(3;’5! p

(4) The tax charged on all the taxable iricome is called: b w bel ST e (@)
(A} Sales tax Ci (B) Direct tax Jgubg'/. (C) income tax u’g}fl (D) Excise duty des7 L

(5) /3 is number: %.mbf 43 15
(A) Rational (7t (B) Inational Ft4  (C)Natural (13 (D) An integer il

@) 7 iscalled s V1)
(A) Radical % (B) Radicand 4% /- (C) Rational number Wt (D) Integer 240

(7) Fourthtermofa, = o in is: ?ﬁ;,l:( (’Ju”,’g.;,( a, = Ez—lz—ﬁy (7)
® = ®) o © = ) 0

7 749 81

(8) For 2, 6, 11, 17, - i Bg is: ?;.y‘i:cé(,f ag e 2. B, T, U, o= (8)
(A) 24 (B) 30 (C) 21 (D) 22 )

(9) If A and B are two non-empty sets then AUB =7 ‘ AUB =17 ?U}’Z.‘af’dﬁ;/:;u Bal A i 9
(A) ¢ (B) 4NB (C) BN4 (D) BU4

(10) The coordinates of origin are: ‘.‘ujl.ntfabfﬁ dar {10)
(A) (0, 0) (B) (0, 1) © 1,1 Dy(1,0) . )

(11) i all numbers in a set are added together and - w;?;_w“ I/,J‘x«’"’u{u{ u!:Qr’.‘f_/ lf’/uk’ J:Lv‘ujfl (11)

the total is divided by the number of scores in the set is called: ’

(A)Mean Ll (B) Mode »b (C) Median e~ (D) Weighted mean ol sl

(12) 20% of 600 is ¢=20% K600 (12)
(A) 12 (B) 120 (C) 20 (D) 200

(13) Fraction form of 70% is: -4",(){50//(@( 70%  (13)

7 10 7

(A) 7 (B) 0 () = (D) 55

(14) Zakat is deducted at a rate of: ?{-—&%C—Cﬁ/ WG (14
(A) 2.5% (B) 3.5% (C) 4.5% (D) 5.5%

(15) On acrop produced on natural resources, Ushr is deducted at a rate of: %{J{Q/‘J [}}’/ u//“’/?f (; JJKaéw&/} (15)
(A) 2.5% (B) 5% (C) 20% (D) 10%

33(0bj)( 3T 7 )-2022(A)-5000 (MULTAN)



G FANIT (VU] VieMAWYYW )

GENERAL MATHEMATICS GROUP-l- * ..;,,J m,u /
TIME ALLOWED: 2.10 Hours SUBJECTIVE &2 H210 =
MAXIMUM MARKS: 60 MTp=-G)-22 = AF
NOTE: Write same question number ...‘-Z,j;u“ G ié et ~/J;F/Jiydu/dmtf ey

and its part number on answer book, as given in the question paper.

SECTION-l Ji.»

2. Attempt any six parts. 12=2x6 «é/ful« -’.Ll]w.,d:’ “24
()  Express 95% as fractions in their simplest form. TS 5% ()
(i)  1f45% of the students in a school are girls, ?fwgfu&;lﬁgfuﬁ?uﬂug@ 45% éuﬁyﬁdﬁ.{!ﬁ (i)
what is the percentage of boys?
S 7. . .
(i)  Express the > : — in its simplest form. u‘”’ju" fuw/ — {— iii)
6 10 6 10
(iv)  Find the Zakat on gold amounting to Rs.1110000. -Q)%.?L’fb';c‘;u/’?."idru 1110000 o{hd/i,nﬁ (iv)
(v)  Define Zakat. -u:’{»y YASIS (v)
(vi)  Define Profit L AE i
(vii)  Find the SP =2 if CP = Rs.950 arid/Profit = 10% 1950 = g i d i 10% = & Sy Sresped (il
(vii)  Find the MP, when SP=Rs. 515.20 and &2 51520 = i pednl 8% = o QU Iedutln (Vi)

Discount = 8%

(ix)  Define Pay Order. oy, Ly }’uﬁ,‘” (ix)
3. Attempt any six parts. 12=2x6 ~£/fyuff£!]wc,d:‘/ Y
()  What sum would borrow in et o //uﬁu".( e s AT S Lol 5% &L a0
Rs. 174 as simple mark up at 5% in 4 years?
(i)  Define Property Tax. L& ._4!/5@’? V()
(i)  Khalid works 6 day-week. a,':‘“’.,ﬂ.,y R Jul)'/ w igrfess 200 sl il b/?b/u; 6 el (iit)
Find his gross monthly wage, if his rate of pay is Rs. 200 per day
(iv)  Express in exponential form. Vf(;{ \,[;3 -uf@:fyud (iv)
v) Write 89.99 in scientific notation. J’{.. u” Y 89.99 (v)
(viy  Simplify without using logarithm table. log5 + log6 — log2 -.:;»’/J"/éfédbhdw(’f@ (vi)
(vi)  Find the term indicated in the sequence 1, =3,5, =7, ———=, q, _c_a‘-’”ﬁ/«j@/dx Eos L (vii)
wiiy I a, ,=2n-12 find a, ek a, Fra,y=2n-12 A (i)
(x)  Find GM between 4 and 9. SEP ALY sh (X)

( 2?,‘ ’JJ:)



4. ARGIMpPL any Six pare. 14=£A0 ~e= VNN &)Y SRSV

K

(i)

(W)

(vi)
(vii
(vii)

(ix)

Write down the Demorgan's Law. MTN - Q/ '2L -&Ju.’ L u'j Wi )

If A4={3,56}and B={1,3} W Bx A B={13} A 4=(356} S (i)

thenfind Bx 4

[ 2 .

E A I 4=(2,3,57} 4 U={L234567.8} /1 (i)
f U={T122345678}and 4={2,3,57} thenfind 4°

Define Origin. Sl W)
Represent 4( 2, —4 ) on the graph. : : : -“éﬁlb'{dl)j( A(2,~4) (v)

Write the formula to convert Degrees Fahrenheit into Degrees Celsius. -&U,b’ KL/U#J’;/U"/ % oind bt Aelbon (Vi)

Define variance and write its formula. -jf KL)}J"_V, }/;I"é/..y /J S )
Find the range of given data 6, 8, 10, 14, 13, 12 <§(PMJ B, 8, 10, 14, 13, 12;i/££/a".) (viii)

Foradataset 5 4, 5, 4, 3, 4, 26 Findthe Median.  -ZE#bsb 5, 4, 5, 4,3, 4,2, 6 2l (i)
SECTION-II (.

NOTE: Attempt any three questions.-, 24=8x3 -“é“/ /Luziauwfc,éf Oy

8.(A)

LIS L VIS AL e 257 6 S 4 SF 3 pp Sl skl ()5
Aftriangle has sides of length 3cm, 4cm and 6cm. Find the ratio of lengths of the sides to one another.
DAL Ly AN oSSy 4800000 o1 (L)
Akram left a property of worth Rs.48,00,000. He left behind a widow; three sons and four daughters.
Calculate the share of each.

Distribute Rs.720 as profit amongst 31415 et ur"ziul//l{_ffiﬁ ng (32._:} 720 LSEIE (LN)-6
three people so that their shares are inthe ratio 3 : 4: 5

Find compound profit on Rs.600 for 4 years ' -zfrk'@vmf:,c /ol 6% A.LJ(/ 4 141600 ()

at 6 percent per annum.

The price of a bicycle is -g,_f(kff}f{az S50 13 16% Z//“JJ@O;“L{:M 3500 =2 JHLgl (.7

Rs.3500. If 16% sales tax is charged, then calculate the amount of sales tax on 50 such bicycles.

1
Evaluate 2log5 + log8 - —2—10g4 2log5 + log8 — %log4 -:L{gf ()

Find three A.Ms between 11 and 19. -éfﬁ%u’u'uwé 19 411 ()-8

(B) Prove for following set (ANB)NC = ANBNC) el Lusabits ()

9.(A)
(B)

A=§1,7,14,15,17, 21}, B={11.17,19, 23}, €={2,3,5}

Sketch the graph of the given line. y = 4x + 1 =4x+1 ,é/w// qlﬂuvdyd) (H)-9
Find standard deviation and variance of the given data. é()‘”u Ys /UA:»A c..;VJ b (&)
1,2, 3, 4 6, 8 11 1,2, 3, 4,6, 8 11
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" Note: you have four choices for each objective type question as A, B, C.and D. The choice '..z,,{);g)"?}amx

which you think Is correct, filf that bubble in front of that question number, on bubble sheet. Use marker or pen

to fiil the bubblés. Cutting or filling two or more bubbles will resultin zero mark in that question. No creditwill be -

awarded in case BUBBLES are not filied. Do not solve questions o n this sheet of OBJECTIVE PAPER. Y
‘QNo.1- , . , R
(1) Profitis earned when: - ' - ' ' 7'-:/’;@;..&:&‘«'.’" 987 4]

(A)SP=CP wsicd=sicd B)SP>CP wijad> il
(C)SP <CP 2isjed < yied " (D) None of these ASfe 2y PR
(2) The company undertaking the act of insurance is called: : _ -uggfaig_éhziﬁfféu‘lﬁlﬁg )
(A)Insurance o+ (B) Insured 381 (C) insurer 4 (D) Insurance policy o‘-"‘gu’iﬁi L
(3) The extra-amount earned by tfhe bank on loan is named as: G e th Pednkibiingen ) 0)
(A) Bonus /% @) Premium (£, (C)Markup it (D)ProRtEy
~ (4) Taxes of the form of duties, motor vehicle taxes are called: ' - /-ugéffffgﬂfgfd?ﬁ:}}'fﬁ : (@)

(A} Indirect tax V’"C:l»-!.v'g- (B) Direct tax Jlg..:/baf/{ . {(C) Property tax ngikg. (D} Income tax ff ,
| - <t n L ()

8y In a"  'n'iscalled. -

(A) Radical » - (B)Radicand ¥ (C)Exponent Vs  (D)Base ! iy
B B ey 2O , Pagr VW2 =2 ©
| @ 28 (B 2 © 27 , o 2* e v
- (7) AM between 33 and /3 is: v » x4 S3oa 33 &7)
@& 45 @ 53 R R N @23
(8 R =1{(45)(54),(56),(64)}. o5 (R) =2 R =L (4.5), 5.4 (56, (6 HLL (8
_thendomainof R is: , - ’ L ‘ :
(A) {4, 6} (8) {4, 5} (€) {4,5. 6} (D) (5,6}
(9) If 17 = {1.2.3.4) and A= {4} then 4=2 A= A={4} 4 U={(1,23,4 F ©®
M3 (B) ¢ ey oiL234y
{10) Graph of the equation in thé.form y=c has ¥ co-ordinate. S‘_.;;mg?g y ,;Jt/‘uff\f y=cobl  (10)
A 1 ®) ¢ ©0 (D) -1 B
{11) "~ $(x, - X) =0 is one of the properties of:. ' .‘4.%_»%4!&0” - 2(x, - X)=0 '(11)
(A) Arithmetic mean bsidl>  (B) Geometric mean sid#  (C)Harmonic mean b} (D) Mode . ..
.(12)' % in térms of percentage s ‘ ; _ : -g.ﬁ;}ed:wd % (12)
W% ®) 1% o n%. O 33%’% |
(13) naratio a:b, "b" iscalled o k, et b e ach  (13)
" (A) Extreme g1 (B) Antecedent wils( (C)Mean wis (D) Consequent 2545
- (14) ‘The share of a widow (in presence of childrenj in inherited property is:  ¥nE (u:?xf;gr‘o';ﬁaf )y@zg:,&),sss (14)
] o 1 . P
® g ® o O © 3 -
(15) - Zakat on an amount of Rs. 100,000 is: ‘ .. e 35902 100,000 (15)
(2500 © 7 (B) 25000 (C) 2000 (D) 15000 '

35(0bi)( ¥ T¥)-2022(A)-5000 (Mu:;rAm
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c!NERAL MATHEMATICS GROUP-I A ..,,/ Pl
TIME ALLOWED: 2.10 Hours SUBJECTIVE /i "o - iy
MAXIMUMMARKS: 60 - Mﬁl—é,z,;\g 60 = Af
NOTE: Write same question number -c_Z,uu"a./Jlr,G’éf Z,»/":?»V’J!r&/QE’GV bt
and its part number on answer book, as given in the question paper. '
| SECTIONA Lo - e
2. Attempt any six parts. 12=2x6 -égj.:fwé_mugc,df -Zﬁ’Jlr'
) Find the value of x in the proportion 20:50:: 8 x -g’:}k’:,ét,( x wqt’lé ZO:SO et o (i)

e R ATH s 35000 BIAML L s 40000 T Wl @ -
) ) : r LA 4' (] . ?’ (]
(i)  Ali's father earns a salary of Rs.40000 ina month while his father's monthly expenditures are Rs.35000.

Find thie ratio of his father's income to saving.

(in)  Express the decimal 0.5 as pércentage. ' - | ,-étb?ufﬂ&f 05 ,)L‘fl (1}
(v}  Calculate the amount of Zakat on-an amount of Rs. 500000. N ' -pr“’f/c,( i 441 500000 ()
(v)  Calculate the Ushr on a rice crop produged by. ' -épt"//u» 600000 ‘ft‘f’ (fd,bwlyc.(jl»dm ‘(v)
, natural resources amounting to R;’.600000. _ v

(vi)  Find SP when cp= Rs.9600 and Profit = 10% &3 9600 = wied  10%= ¢ ﬁw’ P&:}J (vi)

. (vii) Abicycle was purchased for Rs.3450 and -5(}”8' WYessifie 1 3850 /,xu'wutuj 3450 ‘f’ futl (vn
| sold for Rs.3850. ‘Find the proft.

(i) The marked price vs&wﬁaﬁv‘é e bl /.,»/ a.y 68441 e tss 720 ..»’wz,m&.w’.ﬁ (vil)

of a ceiling fan is Rs.720. Itis sold for Rs.684. Find the discount.

() Convert 5000 Saudi Riyal to 22,3449 = skl .Gédyu‘uy,,duf L/JLJU»” 5000 (ix).
Pak rupees when rate of Saudi Riyal = = 22,3449, ) f ;
3. Attempt any six parts. ' : 12=2x6 -izf“uﬁi'iil‘] ic,af -3/@)&
G Find the sumple profit if S T=wunt8%= C/J(‘}V &3/ 12,000 = ;/J’" f u‘fr}“ c’wv (i)
\' principal amount = Rs 12,000, Proﬂt rate = 8% and Tcme 7 years.
(i) Define direct tax | RS | -u/w/&fumu i)

(ii) - The price of a bicycle is Rs. 3600, .-u/(}vwf)’/wxc/&f)f 16% J ¢e 0 3500 JJJ/’LJ (i)

if 16% sales tax is charged, then calculate the amount of sales tax on it.

{iv)  Write (1000)'121 in thé.radical form_and.',evaiuate it o v-g{/‘,}'ffuﬁf&,@f (1000)§_ (iv)
(). Wite 0.051 in scientiic notation. o A 0051 (Y |
(vi) lfvldgi':_o.1597,ﬁhd x L ped x Inlogx =0.1597 AW
(vif) Find 7thtermofaGP 2, 8 32 - V' -q)?ﬁ’f:q»?& 2, 8 32, - J/’“d/ (vii)
(vm) Find the geometric mean betheen -2and-8 | -qf(}”mqf"uypi -8 =2 (Vi)
(ix)  FindAM between 7 a5 37 N , LIl 3T _'ﬁ; (ix)’

(Aids)



A g -

| j < 18 , w3
4. Attempt any six parts. faz=2xe . gifelnlimgelf 4l
() Wite down the Demorgan's Law. M7 -42_2'9\ WA
. ) ‘ ) | ‘ 3w i N . : ‘
W) RA-(seymd B=(13) P BxAd B=(13)A4=(3560 0 @

thenfind B x 4

P A W A=(2,3,57) 9 U={L2345 67,834 i)
(i) ¥ U={1,2,34,5678rand 4={23,57} thenfind A° '

’

() Define Origin | gt o o Eafe W)
v) Repres’ént A(2,-4)on thegrapﬁ,'- N .o i -g{ﬁu;pu? A(2,-4) v

(vi)  Write the formula to convert Degrees Fahrenheit into Degrees Celsius. - 4{! Ké._/g}“gu:éfd“e»f%uﬁy) (vi)

(vii)  Define vaniance and write its formula. s -z”f KL)?:"’." = ,é’};léqﬂf_-‘ & (vil)
(i) Find the range of iven data 68,10, 14, 13,:12 i 6,8 10, 14,13, 125y (vii)

() Foradataset 5 4, 5 4, 3 4,2 6 Findthe Median, -ﬁé()"g%( 54,543, 4,2, 6 erly (X))
| SECTIONA! pne ,. |
NOTE: Attempt any three questions. ~ 24=8x3 & felilativife 3 -2
LI L SIS L s S5 6 RS 4 7B UL B (N5
5.(A) Atriangle has sides of length 3cm, 4cm and Gem. Find the rati_é of lengths of the sides to one another.
LIS L fiile LARVE S E :s:jugé;.lé.uldb’:ﬁgku(di%u 4800000 Lol (&)
© (B) Akram left a property of worth Rs.48,00,000. He left behind a widow, three sons and four dgughters.
Calculate the share of each. 70)

6.(A) Distribute Rs.720 as profit amongst 31415 eALUPLOEL Il T RURE . ()6
-~ three people so that their shares are in the ratio 3 : 4 : 5 _ " v -
(B) Find compound profit on Rs.600 for 4 years ~€,.’{r:"’(‘jl?,‘cfgfc,b;;ﬂi/'6% Lot 00 (L)

at 6 percent per annum.

70 Theprceofabioycleis  -ZFKe B 50 ik 16% UK g 3500 LAGFAL (T
~ Rs.3500. If 16% sales tax is charged, then calculate the amount of sales tax an 50 such bicycles. e

(8) Evaluate 2log5 + log8 - ';‘1084 : ‘ ~ 2log5 +1og8 — —%logti EJ %,
8.A) Find three AMs between 11 and 19. Lt Loenl 19 411 ()8
(B) Proveforfollowingset ~ = (ANBYNC =AN(BNC) Eerd Lusaditn (L)

A={1,7,11,1517,21}, B={11,17,19,23}, C={2,3,5}
9.(A) Sketch the graph of the givenline. y = dx +1 4 y=4x+1 -ég,qui{;uf)x;f'ﬂénd: (.9
* (B) Find standard deviation and variance of the given data. -gi:(}“’»:-; i ifisied. Cavtitn (L)
1,234,868 11 N 5 1,234,681
33-2022(A)-5000 (MULTAN)



